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(A} Determine the weighed average cost of capital using. 15

(1) Book value weights and.
(2) Market value weights based on following
information.
Book value structure.
Debentures (Rs. 100 per debenture)......... Rs. 16,006,000
Preference shares (Rs. 100 per share) ... Rs. 4,00,000
Equity share (Rs. 10 per share)........ Ra. 20,00,000
Recent market prices of all these
Securities are :
Debentures Rs. 110 per debenture.
Preference share Rs. 120 per share.
Equity share Rs. 22 per share.
External financial opportunities are.
(1) Rs. 100 per debenture redeemable at par, 10 years
maturity 13% coupon rate 4% floatation cost and
sale price Rs. 100
(2) Rs. 100 per preference share redeemable at par 10
yvears maturity, 14% dividend rate, 5% floatation
cost and sale price Rs. 100. '
(3) Equity share Rs. 2 per share. Floatation cost and
sale price rs. 22.
Dividend expected on equity share at the end of
the year is Rs. 2 per share anticipated growth rate
dividend is 7% company pays all its earnings in
the form of dividend corporate tax is 50%.
(By Write None :- Significance of financial management 5
OR
(A) @& A company issued 12% debentures for seven 10
vears at a price of Rs. 95 to raise Rs. 7,00,000 the
face value of the debentures is Rs. 100. The tax
rate is 50% calculate the post tax cost of issue.
@) A company issues 10% irredeemable preference
shares of Rs. 200 each The floation expenses are
6% and the shares are issued at par compute the
cost of capital if the shares are issued.
(1) at par ‘
(2) at 4% premium
(3) at 4% discount
(B) Explain profit v/s wealth maximization. 10
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Z  {A) Following information are of two companies. i5

Particular Company ‘A’ | Comapany ‘B’
Iiquity sharve capital of Rs. 10 each 1,60,000 §0,000
10% debanture 40,000 1,20,000
Net operating income 40,000 40,000

(1) TIf cost of equity of both the company is 12% then
find overall cost of capital of both company as per
net operating income approach.

(2) 1If overall cost of capital of both company is 15%
then find out cost of equity of both company as per
net operating income approach.

(3) ive your opinion for the best capital structure.

(B) Wrnite note :- Types of Working Capital
OR
Z  (A) Net operating income of sahaj Co. Ltd. is Bs. 6,00,000 10
while its total investment is Rs. 36,00,000 the rate of
equity capitalization is 12% when its. Capital structure
does not includ debts but the rate of equity capitalization
1s 12.5% when the company issues 8% debentures of
Rs. 10,00.000 in exchange of its equity shares and it
is 15% when it issues 10% debentures of Rs. 18,00,000
m exchange of its equity shares compute the cost of
capital and market value of the company under these
three situation according to traditional approach.

&

(B) Discuss factors determinds working capital. 10

3 (A Following details are available for virat company ltd. 15
Earning per share Rs. 10 Dividend per share Rs. 6
Capitalization Rate 10%

If the rate of return is 8%, 10%, 12%, 14%, 16%, 18%,
20%, Calculate the market value of shares as per
walter's model.

(B) Write a note — Cash budget 5
OR
3 (A) The internal rate of return of sujal company ltd. 16

is 25% capitalization rate of the company is 20% and
earning per share of the company is Rs. 10.
If the company pays 20%, 30%, 50%, 60% and 70%
dividend what will be the market value of shares as per
gorden model.

(B) State meaning of cash management describe : 10
ohjectives for maintaining cash balance. '
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4 (A) The Balance sheet of vimal ltd as on 31/3/16 is as follows. 15

Liabilities Am | Assets Am
Equity share each of Rs. 10 4,00,000 | Fixed assets 8,00,000
12% debentures 3,00.000 | Current assets 1,00,000
aeneral reserve 1,50,000
Creditors 30,000
Rills Payable 20,000
9,000,000 9,00,000
Other information :
Sales durimg the year ........ccooviiiiiiiiee, 25,00,000
Fixed eXPOISES oot 5,00,000
Variable expenses ...t 40%
INCome TaX...iiviiioiiciiicei e 50%

Find out all the types of leverage and determine the
Ievel of earning before interest and tax, if earning per
share 1s Rs. 4,8,12 and 16 Rs,

(B) Write note:- Optimum credit policy. 5
OR
4  (A) Following information is available for two companies 10
‘A’ and ‘B’

Detail Company ‘A’ |Company ‘B’
Equity share capital each of Rs. 10. 2.50,000 1,00,000
Number of shares 25,000 10,000
Assets 5,00,000 5,00,000
8% debenture 2,50,000 4,00,000
Tax rate 50% 50%

If the profit befor interest and taxes respectively Rs. 20,000,
Rs. 40,000, Rs. 70,000, Rs. 1,00,000 and Rs. 1,40,000 find out
the earning per share of both the companies from above
information.

(B) What is management of receivables explain in detail 10
cost of maintaining receivables.

5 (A) Aditya company ltd. is considering to purchase 15
a new machine investment in the project Rs. 2,00,000
there is not any scrape value of machine the estimated
life is five years the company’s tax rate is 50% the firm
use straight line method of depreciation. The cash flow
from the investment proposal before depreciation and

- tax is given below :-
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Year Cash flow Present
value (at 10%)

1 40,600 0.909

2 44,0600 0.826

3 56,000 0.751

4 60,000 0.683

5 1,00,000 0.621

Determine profitability of the machine under following

methods.

(1) Pay back period.

(2) Average raie of return method.
(3) Net present value method.

4 Profitability index.

(B) Write Note:- Maximum level and minimum level of 5
mventory.
OR
5 (A A company is considered on investment proposal to 16

install new machine the project will cost Rs. 3,00,000
the estimated life is five years the company’s tax rate
is 50% the firm use straight line method of depreciation.
The estimated cash flow before tax from the proposed
imvestment proposal are as follows.

Year Cash Flow.
1 60,000
2 66,000
3 84,000
4 90,000
5 1,50,000

At the rate of 5% and 10% evaluate the proposal as per
internal rate of return method.

(B) What 1s inventory management ? write objectives 10
and importance of inventory control. -
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